@ —4x+3=-3+4x

@ 2x+1

4(x-1)

@ 4x-4

X =—X

® x+2x-3=3x-3



S 6-ax=4x+b 7}

@ 1 ® 2

® 0



3. AAWRA 2043 =98 B S5kl SHY 4= b old
a+c=b+ca B ol gRT k. ol ¢ o gL

@® -9 @ -3 ® -1 @ 3 ® 9



@ x2=2x+4

D 2x-2=3+2x

® gx:x—l—S

® 3(x-2)

3x—6
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6. SA3x-4=Tx+5Z 0} I mx+n=09 EZ 1
o] Z22(d, m > 0)
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@ 2(x+1)=-x+3

D 2x-1=2

@ -(x+1)=x-5

=X

®4-(x-1)

® 5=2(x+1)
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ol 250 94 AESIE x7HE ol @
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@ (7300 + 120)x = (3400 + 250)x
@ 7300 + 3400 = 2x

® 7300 + 120x = 3400 + 250x

@ 7300 + 120 = 3400 + 250x

® 7300 x 120x = 3400 x 250x
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Apolof|i= 3 AIZF 30 2] A|ZF 2fo]z
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@ 2x-3x =230 ®
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@ 0.05 x 600 + x = 0.04(600 + x)
@ 0.05 x 600 = 0.04(600 + x)

® 0.05 x (600 + x) = 0.04(600 + x)
@ 0.04 x 600 = 0.05(600 + x)

® 600+ x =4
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15. A vfelA = B 7Pgel 15 % 9] ol92 & A7 AskaL, g7 HlA
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